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[1] BBA% (coefficient of kinship) & X 2 DDEEDBDBOH AR 1 DT PWMY LT 25D
7 LRI ORI BT S (-OF Y identical by descent Th D) HRTH D, TREKELOER
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BRI 0. FENFhOEREEDL 0 75, (10 K)

(3) IYARFIZBO RSN LT E LEERIIA XD, ARARRBINLREET D,
IV ARFDAAD full-sib OFFHREEHE LR SN, Ltbﬁfn%ajzn%mﬁﬁw&io
FENENOERGED 0 L35, (10 )

" M#gM%E (coefficient of consanguinity) ¥ 7= X FAFREL (coefﬁ(:lent of co-ancestry) & bFEIILD,

[2] ABO FMiEEUZ BT 3L T ORVICE X2 SV, (FF20 &)
(1) ABO R iEFI 2 PET 5 4,B,0 D3 >DT VADEEEZNENp,q,r p+q+r=1) & LT,
INeTE e T A A7 A (Hardy-Weinberg equilibrium) 12381 % 4 DO MR E N ENOEEE
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(2) 3 LTI A BOEEN 056 E&bE<. KN OED 025 Thol, N—FT 4 - UA LN
P EARE LT3 7 VADEE p, g, r 75 BE AB RO MFRHOBELHE LRIV, (10 K)

[3] Suppose a large number of small, experimental populations all of the same size and with equal number of
males and females. At one point one individual in each of the populations is replaced with an individual,
which is heterozygous for a neutral mutation and the resulting populations are kept at constant size until the

neutral allele is fixed or lost. Suppose fixation of this allele occurred in 5% of the populations. What was

the actual size of the populations? (10 &)
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